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State the nature and scope of Logic.
OR

State the relation between Logic and Psychology.

Describe the functions of language.
OR

Explain the four fold scheme of categorical proposition.

What i1s obversion ? Explain with example the
obversion of A, E, I, O.
OR

What is Inference based upon opposition ? Explain its
types with example.

Explain the laws of valid syllogism.
OR

Verify the following arguments : (any two)
(a) Japan is Suman’s Friend.
Suman is Kavan’s friend.

- Japan i1s Kavan’s friend.
(b) No Indian is Pessimistics.
Sumanbhai is not Indian.

- Sumanbhai 1s not pessimistic.
(¢0 No man is perfect.
Gandhiji is a man.

- Gandhiji is not perfect.

Write notes about any two :
(a) Dilemma
(b) Proposition and sentence.

(¢) The fallacy of undistributed middle.
(4) Logic and Language.
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